Subject
Code:

24

7

dda
0128/TFU-LS/ELG-II

Question Booklet No.

Seal of Superintendent of Examination Centre
C'G’u SE_T — 2—@'\%
Paq Pes ~1L
L ‘\ de & d ohn ceD

e HETeTE e

ameff gRT dfe-EEee U9 9 9 S
To be filled in by Candidate by Ball-Point pen only Sl No. of Answer-Shee

W92 = wHw

CRETIC
Roll No.

HreoT : H e fed v Frder arset W veeRt www fere ¥

Declaration : I have read and understood the instructions given below

<fiareh % TEER el % TR

(Sl gnature Of Invigilator); ................................ (Signature Of Candidate) ..................................................................................
ek & I srgeft o1 M

(Name of INVIgilator) ..... ....cccverriocsssscnnereirrenas (Name of Candidate) ...........ccoocwcuseerinnerurnsernsnsessssesssesssesessessesseseeseenesessennes

Paper: II

Subject: LIFE SCIENCES

Time: 2 Hours

Maximum
Marks:

201

T RY-Yfient ¥ gt st W } 56

W WS-t W Wyl st G

Number of Questions in this Question Booklet} ]- 0(

10.
11.

Number of Pages in this Question Booklet
INSTRUCTION TO CANDIDATES
Immediately after getting the Booklet read instructions
carefully, mentioned on the front and back page of the
Question Booklet and do not open the seal given on the right
hand side, unless asked by the invigilator. Do not accept a
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instructions, otherwise Answer-Sheet will not be evaluated.
For each question in the Question Booklet choose only one
correct/most appropriate answer, out of four options given
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OMR Answer-Sheet, bearing the same serial number of the
question. Darken the circle with Black or Blue ball-point
pen only.
Darken the circle of chosen option fully, otherwise answers
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There are 100 objective type questions in this Booklet. All
questions are compulsory and carry 2 marks each.

Do not write anything anywhere in the Question Booklet or
on the Answer-Sheet except making entries in the specified
places. Rough work is to be done in the space provided in
this booklet.
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to be handed over to the invigilator before leaving the
examination hall, while the Question Booklet and carbon
copy of the Answer-Sheet can be retained by the candidate.
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In case of any ambiguity in Hindi & English versions, the
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LIFE SCIENCES - II

g fage - 11

1.  The solubility of gases in water depends
on their interaction with water molecules.
Four gases i.e., Carbon dioxide, Oxygen,
Sulphur dioxide and Ammonia are
dissolved in water. In terms of their
solubility which of the following

statements is correct ?

(A) Ammonia > Oxygen > Sulphur
dioxide > Carbon dioxide

(B) Oxygen > Carbon dioxide > Sulphur
dioxide > Ammonia

(C) Sulphur dioxide > Oxygen >
Ammonia > Carbon dioxide

(D) Ammonia > Sulphur dioxide >
Carbon dioxide > Oxygen

1.

o # et 79 &t faeraar Sia & 1
Ty g ot R R faeft e /1
T, @ gEeAfEs, i, o
TEINFAEE qUT SHIET & 5 §
T S faeaa F ey B e
T YA HE ®?

(A) srmifrar > erfwdis > @
SRR > HET SEATHIES

(B) SIS > hisi SRATRITS > T
TEAFEE > STHI

(C) ToHl SRATHEES > TdTSr

S > HEA SRR

(D) STHIFAT > TR SESHIES > T
SETHIES > TS
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%" Find out suitable match between:

(d)

Column I and Column II :

Column I
Cytidine (i)
diphosphate

Uridin di-
phosphate

(i)

S-adenosyl (iii)
methionine »
Phospho-  (iv)
adenosine
phospho-
_sulfate

Code :

(@) (b)
(A) @) (i)
(B) @ ()
© G )
(D) () (i)

Column II

Donates sulphate
for synthesis of
mucopolysaccharide

Donates methyl group

Phospholipid synthesis
act as carrier of choline
and ethanolamine

Carrier of mono-
saccharides. required
for glycogen synthesis

©
™ 0
(i)
@ 0
O @

§

Which of the following does not involve

EMP cycle ?

(A)
alcohol

(B)

(C) Reduction

acid

(D)
and H,O

Conversion of glucose in ethyl

Conversion of glucose in PGAL

of glucose into Pyruvic

Conversion of Pyruvic acid into CO,

(b)

©

(d)

WY [ T W 11 1 e fHam 9d &%

wWg I
RN ()
TEHERS

TEH
TERITHS

S—3TSHITa (i)
A3

(i)

RIERISAE(iv)

e

(b)
(i)
(iv)
(iv)
(i)

(4)
B) @
(©)

(D) (@)

WY II

TR IUITTHRIES %
et & e aethe yeH
FAT]

AT IE WS HT T

THERIfAfTs Gy,
I LT TIHTTHA &
IEF 1 1 T ¢ |
TTEERIST YNl & fau
ﬁ'—h@mmm‘zﬁm
7l

(d)

=1 4 9 919 91 EMP =% ¥ gftufer &t

BAg?

(A) TS UeeniRlet § Toehid Y Saer |

(B)

PGAL T Teshid ol 95er |

(C) T oI TS 3T B STI=EA |

(D) UIEEfas® 3=d 1 CO, a9 H,0 ®

EESEIN
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4.  Which of the following techniques would 4,  S% GRS W UG SR H GUS

you use to separate molecules based upon % fore forg fafy =1 3w oma w81 ?
their size ? . .-
(A) Gel Exclusion Chromatography (Ay et STgast P
(B) Antibody affinity Chromatography (B) UdiE sy wraSm
(C) Ton Exchange Chromatography (_C). 3 fafwa wmewTs
(D) Isoelectric focusing (D). EfaE BT
5. Which of ﬂlé}iﬁématch? L 5. ot i w gafew €2
(a) Epstein-Barr -  Burkitt's (a) TEH-9K amw - oy ferwmn
Virus lymphoma:
(b) HTLVI - Adult T-cell (b) HILVI . TewT-d
leukemia hTHAT
() Herpes Virus -  Kaposi (c) TS I - KO SR
sarcoma
(@ HIV - Retinoblastoma (d) HIV - YfeherRm
Code : . | e :
@) @ and @ (A) @)
® @Omd@ ®) (@@
(C) (b) and (c) | ©) (d)TA()
® @ © @
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6.  Match Group A with Group B. 6. WHE A %I UYg B 9 gafem Hifsu

Group A Group B HHE A HHE B

(M) Non-flagellate (1)  Ascaris M) TH-Rsee @d (1)  TEHRS
sperm

(N) Meiosis (2) Early cleavage (N) feifam (2) SRfYF Follas B

stage cells oy
(O) Sertoli cells (3) Nutrition (O) weifa dey () dm
(P) Gl phaseof  (4) Reduction (P) SATFH Gl (4) oT9uA faweH

the cell cycle Division
is absent
Code :

M) (N) (O) (P)
A @ O 6 @
B @O @ @ 6
© @O @ ¢ @
(D) None of the above

The third cleavage in frog’s development
is:

(A) meroblastic and vertical

(B) vertical and equatorial

(C) holoblastic and unequatorial

(D) holoblastic and equatorial

Which of the following statement is

true ?

(A) Membrane consists of only
cholestrol and proteins.

(B)  All membranes have the same lipid
to protein ratio.

(C) All membrane proteins are
glycoproteins. -

(D) Phospholipids and proteins are the
main components of biological
membrane.

* TS T F BIAT

e

(M) (N) (O) (P)
A @ O 3 @
B 1 @ @ O
© O @ 3 O
(D) SR ¥ q 8 T&l

e STATH= H T i ¥

(A) WAe® e afdsa
(B) dféwal qe THEIRTa
(C) B Tl STRFARTe

(D) Trrsenies qe SRR

fed s s g s?

(A) AR H Fad wioRgiel agl e drr
g

(B) Wt AFHl H Wi U % forg S
& fafre 2 7

(C) |+t A WA TSI B ¥ |

(D) werifafre qor TR areitsEa
TS & Y&T U2F B 1
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4.  Which of the following techniques would 4. % GES W NG ST H YUF

you use to separate molecules based upon % fore forg fafy &1 ST a9 4N ?
their size ?
(&) Gel Exclusion Chromatography (A) S sesH R
(B) Antibody affinity Chromatography (B) Ul Sy HASHTR
(C) Ton Exchange Chromatography (C) s fafma wEemTs!
(D) - Isoelectric focusing . (D) Tt W
5. Which of the mismatch ? | 5. ﬁmﬁ i e €2
(a) Epstein-Barr -  Burkitt's @) 3@?—3& anvm - afhew favemm
Virus lymphoma
(b) HTLVI - Adult T-cell (b) HTLVI - TSRT- ¥
leukemia S
() HerpesVirus -  Kaposi (c) oIS TR—RE - HTOE
sarcoma
(d HIV - Retinoblastoma (d) HIV - YR
| Code v: e
(A) (2 anci (b) (A) @ H%TT’(b)
B @and(@ | B) ()
(©) (b) and (c) - © by (©)
® @ © @
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(O) Sertoli cells
(P) G1 phase of (4) Reduction

Match Group A with Group B.

Group A Group B

(M) Non-flagellate (1) Ascaris
sperm

(N) Meiosis (2) Early cleavage

stage cells
(3) Nutrition

the cell cycle Division
is absent
Code :

(M) (N) (O) (P)
A @ @1 6 @4
B O @ @ ©
© O @ 6 @
(D) None of the above

The third cleavage in frog’s development
is:

(A) meroblastic and vertical

(B) vertical and equatorial

(C) holoblastic and unequatorial

(D) holoblastic and equatorial

Which of the following statement is

true ?

(A) Membrane consists of only
cholestrol and proteins.

(B)  All membranes have the same lipid
to protein ratio.

(C) All membrane proteins are
glycoproteins. -

(D) Phospholipids and proteins are the
main components of biological

membrane.

(N) foenfag

WIE A %1 wMg B 9 gifem sifsg
|E A WIE B

M) A-wie T (1) TR

(2) SARfY Feftas w
e

(O) wifa Tog (3) dmm
(P) U =F FI Gl (4) T9=EA faumH

" QTerET hT A BT

<

(M) (N) (O) (p)
A @ O @ @
B O @ @ @
© @O @ & @
(D) 3w B ¥ HE &

Tgh STATH= | A AT F

(A) e qun afdsa
(B) aféwma aean Teafae
(C) Tl qu s

(D) Tl 9o fEa

fad s aad?

(A) AT H Faet HioRe 991 N gl
gl

(B) Wt AW H WA U ferw
& fafae gar ¢

(€ uff T WA e 2§

(D) wrERifafrs qen WENY SRS
IS & & 9ok B 5
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10.

11.

12.

Which of the following is not a property

of cancer cells ?

(A) Loss of contact inhibition of

movement
(B) Fail to undergo apoptosis

(C©) Increased
extracellular growth factor

requirement  of

(D) Cancer cells continue to divide
without any regulation mechanism

Space filled with fluid in the centre of
blastoderm :

(A) enteron
(B) archentern
(C) blastocoel

(D) enterocoel

Which of the following has greater
affinity for haemoglobin ?

(A) Oxygen

(B) Carbon monoxide
(C) Carbon dioxide
(D) Nitrogen

One Angstrom (A) is :
(A) 10 % mm

B) 107 > mm

107 %o

107" m

10.

11.

12.

e § § FeR Sl & ToreH @ 2
(A) TIfa % Hae 3l @ &

(B) THIRIGY 1 STHEHE BT

(C) faft wifkerta gigewne &l =
EICARE]

(D) form foredt foiston o She St = farw
FGRES

AREH FHFEH T T W EE T

(A) T

(B) amfehwed
(C) =
(D) T

7 ¥ § & @ Erafan & fag s
Sy g 8 2

(A) SRS

(B) e AHIRIFIEE
(C) FET SEHFEES
(D) oM
18R (A) wAA T :
(A) 107* mm

(B) 107> mm

(©) 1077 mm

(D) 1077 m
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13.

14.

15.

The protozoan parasites of human body
are :

(A) Plasmodium and Leishmania

(B) Entamoeba histolytica and
Giardia intestinalis -

(C) Ancylostoma duodenale and Taenia
 solium

(D) Both (A) and (B)

Statements :

(a) Gram’s stam was developed by
Christian Gram in the year 1884.

(b) Gram’s stain consists of crystal
violet, iodine, alcohol and safranin.

In the context of above two statements,
which of the following is correct ?

(A) (a) is correct but (b) is wrong
(B) Both (a) and (b) are Wrong
(C) (a) is wrong but (b) is correct.
(D) Both (a) and (b), are correct.

A waterbody is said to be eutrophicated
when it contains higher concentration
of :

(A) Carbonates and bicarbonates
(B) Nitrates and phosphates
(C) Carbonates and silicates

(D) Nitrates and silicates -

13.

14.

15.

3

HHE IR & WSnsT geshat g & -

(A) wIEEieTHE = foremtiar,

(B) Terfar aen feweiferte aen foranfEan
geRafrg

(C) TUf=eneiar gaifeda au 2ifrar

(D) 3 (a) 7o (B)

R

(a) m@qwmaﬁwsﬁﬁsﬁmﬁ

 mmAREmen

(b) T WA H frea aEer, Rt
TEhITE Tl AT Bl §

ST < weA F Y e § w2

(A) - (a) W& R (b) T B
(B) (a) 4 (b) B et ¥
(C) (a) T § W (b) T ¥
(D) ()TN (b) AW E

=1 § foraen! wigumar sifues 8w SomE

(A) FRFEE 7o TEFER
(B) TETH Ao Freihey

(C) wmEew aun fafasren
(D) geeq aen fafase
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16.

17.

(@)

Which of the following is the prokaryotic

cells ?

(4)

(B)

(©)

(D)

Organisms having distinct nucleus

Cells whose genomes are not
contained within a nucleus

Entities or organisms having
indistinctive nucleus

Both (B) and (C)

Match the Column-I with Column-II and
select the correct option form the codes

given below :

Column-I Column-II
Catalytic (i) Particulate
converter matter

Electrostatic (if)

Carbon monoxide

precipitator and nitrogen
oxide

Earmuffs (i) High noise level
Land fills (iv) Solid waste
Code :

@@ () () (d
a) @ @) @) @)
(B) (@) @@ @) (@)
© (@v) (@) (@) @
(D) ) @

16.

17.

(a).

frer § o9 o WihfEifes G ® 2

(A) e T Fl HAITH
(B) ¥ew faud fem ifues & e
T ST
(C) T=mEfest stgan s e
e B B |
(D) (B) 7= (O) 3R
wWY-1 Gﬁﬁﬂﬁlﬁgﬁﬁﬁﬁﬁﬁﬁg M'w‘da
Fe ¥ wa famed w1 == ST
w1 T-11
hTEmEeE () WRETE 3R
form s @) wEA HEa
gfafyeer LRIEIESIEE
AR
TAAFRY, (i) = A ®N
ERETS (iv) 29 Iafire
k3
(@ () (@ (d
A @ @ @ Gv)
®) G @ @) @)
© Gv) @) @G @
(D) @) @@ @) @
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18.

19.

20.

Identify the correct sequences of gases in

the decreasing order of their contribution

to global warming :

(A)
(B)
©)
(D)

CO,>CFCs>CH,>N,0 -
CO,>CH,>N,0>CFCs
CO,>CH,>CFCs>N,0
CO,>N,0>CH,>CFCs

RFLP (Restriction Fragment Length
Polymorphism) study is a technique for :

(4)
(B

(©)

(D)

(a)

(b)

(©)

(d)

Isolating single gene products
Transferring genes from unrelated
species ; |
Identifying  genetic (DNA)
homologies .

Isolating single genes

Identify the correct statements :

5'and 3' ends of the transcripts can
be mapped by utilizing polymerase
chain reaction. iyl

S1 nuclease can cleave the DNA
strand of a DNA-RNA hybrid

T4 polynucleotide kinase is used for
labelling 3' end of DNA

Baculovirus (Autographa californica)
can be used as an insect expression

vector

Code :

(A)
(B)
(©)
(D)

(a) and (b) only
(b) and (c) only
(a) and (d) only
(b) and (d) only

18.

19.

20.

Avelieh SR, Sk ANEM % Ted HH
5] 1 WE STIHH BT AR ?

(A)
(B
(C
(D)

~

CO,>CFCs>CH,>N,0
CO,>CH,>N,0>CFCs
CO,>CH,>CFCs>N,0
CO,>N,0>CH,>CFCs

RFLP (Xfgwm %= oty gifaareisa)
foraer stegas = s fafy 2

(A)
(B)

©)

(D)

Thal St 3ede foaiem
TSI YSTiaal 9 SHA! o1 TR

S (DNA) BT 1 Tg=

Thel S T

T Hel Y TR

(@)

(b)

(©)

(d)

e

(A)
(B)
©)
(D)

TifAes sj@en AfIfHan & I9a &
SN S % 5' qen 3 el
fesror feman < weha ®)

DNA-RNA F9HH % DNA T[S I
S1 JferTTs Fefid T Teohell €1

DNA & 3' BR % Mi%d & feIq T4
I FTAIEIZS HTEst il SUFRT B
e
SHATATIRE (STIATH T FHT) il
ITEINT Tt Afyeafa a9t % &9 4
T < Weman § )

I (a) TAT (b)
e (b) 7T ()
FHIA (a) 74T (d)
A (b) T (d)
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21.

22.

. 23.

(@) Increase of AT% increases the Tm  21.

of DNA.

(b) The Buoyants density of AT rich
DNA is low.

Code

(A) Both (a) and (b), are correct.

(B) (a) is correct, but (b) is incorrect.
(C) (a) is incorrect, but (b) is correct.
(

D) Both (a) and (b), are incorrect.

(a) In general, histon proteins interact  22.

with minor groove, while non-
histon proteins interact with the
major groove of DNA.

(b) Minor groove forms covalent bonds
with histon proteins and major
groove forms hydrophobic interacts
with non-histon protein.

Choose the correct option :

(A) Both (a) and (b) are correct.

(B) (a) is correct but (b) is incorrect.
(C) (a) is incorrect but (b) is correct.

(D) Both (a) and (b) are incorrect.

The bacteria which are able to grow at  23.

0°C but which grow at 20-30°C are
known as

(A) mesophiles

(B) psychrophiles

(C) average psychrophiles
(D) facultative psychrophiles

(a) AT% # 9fg, Tm, DNA # 9fg «
.

(b) AT ¥95 DNA &l SIT= e
IS

(A) (a) T (b), T W& T |
(B) (a) W, WY (b) T T
©) (a) o, W (b) T T
(D) (a) T (b), T TG & |

(a) W TERN WY STeTHers
& Wy a:fFEa wIar & e
-5 WY DNA & 9gaT
79 % Wy 3ia:fran w5 ®

(b) =R W F Y AEEIH
THaAIe siY 11 § a1 IgHEh
R-fe=m A & W TESrH
3fq: fsran < ®

we faweg 9 ¢

(A) (a) T (b) A W& T

(B) (a) VR & T (b) el B

(©) (a) T WY (b) T T

(D) (a) T (b) T Te@ 2 |

YA s 0°C R foenfam B T €
I 20-30°C R fosrfaa e €a €.

(A) HHiftred

(B) WTEEHIfhcd

(C) Jiua urEhifeed
(D) Tisheeled WTEshITHeH

SPACE FOR ROUGH WORK / T% &4 & fo& srtg
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24,

25.

26.

The role of DNA protein is ___ . 24.

(A) Initiation of DNA replication
(B) Initiation of transcription
(C) Initiation of translation

(D) Repair of DNA

(a) Many prokaryotic mRNA contain 257

the ribosome binding site also called
as Shine Dalgarno Sequence.

(b) This sequence base pair with
235 rRNA component of ribosome.

Code :

(A) Both (a) and (b), are correct.

(B) (a) is correct, but (b) is incorrect.

(C) (a) is incorrect, but (b) is correct.

(D) Both (a) and (b), are incorrect.

Although all of the steps involved in 26.

expressing a gene can in principle be
regulated for most genes. The most

important point of control is :
(A) transcription initiation
(B) RNA processing

(C) mRNA degradation

(D) mRNA translation

DNA W& &1 yfirert €t &

(A) DNA wiaepla = yeem &
(B) STHRTM ! I[EE HTAT
(C) TG I YEATT HLA

(D) DNA %! 50 &l

(a) g WiHfETeF mRNA ¥ TgerEm
w1EfE wRe g © 58w gemmAl
faeia et < 2

(b) TE 3TIHH - ZSHM & 235 IRNA F
Y 9 TR SR ¥

(A) () 1 (b), SHIHEI T

(B) (a) W&l ®, WG (b) e T |
(©) (a) T T, WY (b) W
(D) (a) T (b), ST TTerd € |

Tty sfveafan o gfmfag gt =g
Ggifas dR W Afmrar SiHT % foe frafim
ol 1 o &, Foetron e et
g e

(A) TR P

(B) RNA ¥fswan
(C) mRNA fr=iterto
(D) mRNA &HaR

SPACE FOR ROUGH WORK / T% &1d & forr wie
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27.

28.

29.

In RNA editing, the guide RNA :

(A)

(B)

©

(D)

Must have the same sequence as the
end result of the edited RNA.

Can control the insertion or deletion
of Uracils.

Can change a Uracil to another
base.

Can interact with many different
RNA’s.

Phytoalexins are :

(A)

(B)
©

(D)

Chemically diverse group of
secondary metabolites with strong
that

accumulate around the site of

antimicrobial  activity
infection

used for

Chemically sugars

synthesis of cell wall
Chemically proteins used for

synthesis of cell membranes
All of above

Which of the following statements is true
regarding intracellular receptors ?

(A)

(B)

©)

(D)

They are activated by hydrophobic
molecules which are synthesized
within the cell

They contain a binding region for
DNA near-the N-terminal end
They consist of three protein
subunits

They contain a ligand binding site
near the C-terminal end

27.

28.

29.

RNA HUEA § , A1ieied RNA :

(A) ¥ F@ & orHn 1 wfeT S|
Haifead RNA & 3fd aftoms § g
Pae & g ereyen foedio
i = Taa B

faer & 3T G § 55 ol ©

(B)
©)

s -3 RNA’s & Ty 3fq:fa
T HHA T

(D)

ESITeIR B |

(A) vu& TEmEFHTEd TdfEy &
TEEfE R W HHSd JEens
T T THE €, S WhmOT T
STH-TY STHI B € |

g g & gy & fag yg
T T T

Aol A % Gyewu & faw 9y
TEET W R

IR Gt

(B)
©)

(D)

ey Sifven wfeed & faafas 9, f

I G HYA A & ?

(A) T % TS HIATH, BISGIBITeIh 317
F g1 Gira T oI &1

N - 2fifel % free % DNA ¥ f
I Ser A B B
T WM F dF SU-SHEAl Bl §

(B)
©)

T C- <fiva & fee forre it
A B g |

(D)

SPACE FOR ROUGH WORK / T% &M & fer&d e
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30.

31.

32,

Zooidogamous mode of fertilization is
characteristic of :

(@) Bryophytes
(b)  Pteridophytes
() Gymnosperms
(d) Angiosperms
Code :

(&) (@) and ()
() () and ()
(©) (c) and ()
(D) (a) and (b)

The seed which is just waiting for
favourable condition to germinate is
referred to as :

(A) Quiscent seed
(B) Nonviable seed
(C) Dormant seed

(D) Intermittent seed

C4oHs540, is molecular formula of :
(A) Xanthophyll

(B) Carotenes

(C) Chlorophylls

(D) Phycobillins

o= =it reErtve fafy foren fadrear &2

(a) TR
(b) RerwEed
() fomrerdy
(d) Tl
ETE

(A) (a) T (o)
(B) (b) T (o)
© (9T (d)
(D) (a) @ (b)

SIS, S P % fAu sga oRferfy #t
YA H 8, Fhgedl ¥

(A) = o
(B) AHErUSA st
(C) ef= =
(D) faust siw

C,oH560, 11 & forrent amoiferss o1 &2
(A) SR

(B) e

(C) FNIfRa

(D) freifafag

SPACE FOR ROUGH WORK / 1% &g & & ig
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33.

34.

35.

During light phase of photosynthesis  33.

what is oxidized and is reduced ?
(A) CO, and water

(B) Water and CO,

(C©) Water and NADP

(D) NADPH, and CO,

Historically different species/organisms 34.

has been used in

understanding of genetic principles. A

extensively

few of them are :
(a) Maize (b)
(c) Pea (d)

Drosophilla
Neurospora
Arrange them in old to recent order :
(A) (0) (@) (d). ()

(B) (). (@), (b), (d)

© © ®) @ )

D) (© (@), () @)

The taxonomic ranks : 35,

(a) Order (b) Genus

(c) Sub-family and (d) Tribe

are as per the following hierarchy :

(A) @-=>© =0
(B) (2> (d) =)~
© D->@->0->0
D) @—=@©-=>@)—>0

YR YA F YR el & QE R
ferdiigra e STu=fia e € 2

(A) CO, a1 5
(B) & e CO,

(C) T @ NADP
(D) NADPH, q21 CO,

Ufeifer dr R, Snfew fagidl o a9em
fere, firm-fim yenfadl /Sifaehl =1 = &
YR SHAFSE ¢

(a) e (b) SrEBE
() "R (d) e
T O ¥ T T | Fafiem Hiag )

(A) (9 (@) (), (b)
(B) (9 (a), (b), (d)
©) (© () (a) (@)
D) (@) (), ®), (@

ST YR :

(@) A (b)

(c) SU-Fd ad (d) SHE-Sfd
ST i et H R WO % STER g
TE?

A) @—-20©—=>0=>(d
B @->@-—=0-—>0
© @-@-=>0—0
D) @—-=>@© =D~

SPACE FOR ROUGH WORK / T& &Hd & &t S
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36.

Match Table I and Table II :

Table 1

(a) |Arctrea

(b) [Bacteria

(c) |Eukarya

Table II

(i)

Cell wall is made up of
cellulose

(i)

Cell wall does not
contain peptidoglycan

Cell wall is made up of
peptidoglycan

Code

(A)

(B)

©)

@ ® (9

(i @) (@

) @ (@)

O @ @

D) O @) (@

36.

HRUT-1 S GRUA-11 ¥ e Hifva )

QM-I

(a) |eTehfea
(b) [
() E@n‘ﬁ'ﬂ'[

|RUTt-11

iRt fafer = fmfor
YE g &
it fufe &
fcSremEesd & e
whifvrert fufar =1 fafor
fegremsad ¥ g

@ () (o)

(A) @ (@) @

(B) @) () (i)

© @ @) ()

(D) @ () ()

SPACE FOR ROUGH WORK / T®% &T1d & o8 sig
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37. Match Table I and Table II :

Table 1

(@)

Amensalism

(b)

Symbiosis -

(©)

Commensalism

Table 11

)

Two dissimilar species
living together in close
association

(i)

One population is inhibited
but the other is not affected

(i

e’

One population is benefited
but the other is not affected

Code :

(A)

(B)

©)

(D)

@ G (9

M G (@

(i) @ ()

37. WROH-I 1 ARUA-11 9 gafad sifsg

|ruit-1

()

THTTeH

(b)

foemtas

©

HETH

ARUR-11

31 forom weIa S Tss Hagdl &
1 T Y @ €

Teh SIS 1 S0 71 ®
g A yeferd TE geT ®

T SEE Aifad §oT
g EN STy ¥

(A)

(B)

©)

(D)

@ (b) (o)

SPACE FOR ROUGH WORK / % & & fod g
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38.

39.

Match Table I and Table II : 38, WUf-I S WROR-11 § afem wifg)

Table I ARO{t-1
(@) [Oparin | (@) [
(b) [Miller (b) [frer
(c) [Fox () [wem
Table II AROft-11
(i) |Artificial organic synthesis (i) [Fm Sifasw Fyero
(i) | Thermal proteinoids (ii) | St FretAey
(iii) | Coacervates (i) [Fufefaa
Code : : ‘ e :

@@ (b) (9 @@ (b) ()
(A) @) G @ (A) @) @ @
(B) (@) @) (@ (B) (@) @) )
© @) @ @ ©) (@) @ @
(D) () @) (i) D) O ) (@)

A marker linked to the trait of interest will 39. 3Tt ¢e O Gufha Tk &1 ST fFeen

be used for . foegm?

(A) Fore-ground selection (A) YR ==
(B) Background selection (B) UEIYR =Eq
(C) Both (A) and (B) (C) (A) a1 (B) B

(D) None of the above (D) SWH ¥ =g ot =&

SPACE FOR ROUGH WORK / T% &t & fod wre
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40. Match Table I and Table 1I :

Table I

(a) |FISH

(b) [RFLP |

(c) |RAPD
Table II

(i) |Chromosome
| (i) |Primer

(iii) |Probe
Code :

@ ((® (9
(A) (@ @ ()
(B) O @) (@
© @ @
(D) None of above

40. G-I % ARUT-11 § Grfea )

ARON-1

(a) [FISH
(b) [RFLP
(©) |RAPD

@ () (o)

(B) O @) (@

© @ @

(D) ST § HIE TRl

SPACE FOR ROUGH WORK / T% @1 & for&r svg
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41.

|__Sérine
T ;{4},

Serine hydroxymethyl L )
tra};lsfera};e N N®, N16Z methylene - HyF

| Threonine -
| le
| Threonine | aldolase L 1} B —|Gly0xy1ate,

H,F \‘KN_AD*‘

NADH+H™*

NS, N10. me;t?\y?e_ne H,F <-—
CO,+NH;

Detect compound at place A, B, C
respectively and establish reaction
concerned with biosynthesis of which
compound ?

(A) A-Glycine,
C-Glycine Synthetase and for

B-Transaminase,

Biosynthesis of Glycin

(B) A-Transaminase, B-Glycine
Synthetase, C-Glycine and for

Biosynthesis of Glycin

(C) A-Proline, B-Proline Synthetase,
C-Glycin
Biosynthesis

and for Proline

(D) A-Methionine, B-Methionine
synthetase, C-Glycine and for
Methionine Biosynthesis

41.

EE
HF
a0 Trgiiara |
wﬁﬁ_\_ﬂ K* NS, Nlo- ﬁa?ﬁq - H4F
L e
Baﬁ_ﬁq_ | E‘(%"I@I‘Gf ¢| L]i w
HF — | ( NAD*
I
NI NADH +H*
N®, N10- fisief H,F
CO, +NH;

AR A, B AU C W AT 1 e oFmE
AT S HYA0T & Heife i w5 siiefwar

e wifete .

(A) A- 5”55“ lr B'g"HQI” IFI, C—JGHEG‘"—‘I
ferdeq qun TemEE aEveT &
foa

(B) A-ZTHefEAw, B-razd fisdidy,
C-TeRYA a2 e Sa gy %
fer i

(C) A-ifem, B-vifem fadey, caamds
aen Wifer Irfgafay % fo

(D) A-AfysiF, B-Afyeiy oy,
C-TarsdiT aen Afedf srifdefag
& fau)

SPACE FOR ROUGH WORK / % &Rt % ferdl wig
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42, __Glutamate j
| —al
©__ATP
|~
( «—y-glutamyl - cysteine synthase
S~ —rADP+P; '

| y-Glu-Cys |

v-Glu-Cys- Gly|

From above flow chart denote the position
of A and B and establish the metabolic
pool.

(A) A-Glutathione, B-Glycine and
Biosynthesis of Cysteine.

(B) A-Glycine, B-Cysteine and
Biosynthesis of Glycine

(C) A-Glycine, B-Cysteine and
Biosynthesis of Cysteine

(D) A-Cysteine, B-Glycine and
Biosynthesis of Glutathione

42, [_ TRH |

Iqle yaTg 9. | FRIE A 721 B
AT a7 HeTsifers ga T hifse

(A) ARSI, B-regHiA qen faw
S Gor

(B) A-TaEHHH, B-FAEH e TomE
e R

(C) A-TerH, B-Faed qen e
ey

(D) A-ToH, B-TellgdiA qe e
EERCRGLL)

SPACE FOR ROUGH WORK / 1% &8 & ol S
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43.

Some cellular structures are bound by
single or double membranes, while some
others are without a membrane. Match
the Organells from List-I with the Nature
of Membranes in the List-II and select the
correct answer using the codes given
below the lists.

List-I List-IT
(M) Mitochondria (1) Single membrane
(N) Ribosome  (2) Double membrane
(O) Lysosomes (3) Without membrane
(P) Nucleus

Code :

(4)  M)-(1), N)-@3), (O)-(2), (P)-(3)

(B)  (M)-(2), (N}-(1), (O)-(3), (P)-(2)

©  M-B), N)-Q, (0)-1), (P-1)

(D) (M)-(2), N)-(1), (0)-(2), (P)-(2)

43.

FT FIHT AN Thet v2a T Tl
g B € S 9 o7 o A e
&1 -1 & S 1 gei-11 & JSe
P § gafem FIT aon F2 § w9 =R
9T

-1 R-11

(M) "RSIfga (1) Tl AwH

(N) TeerE™ 2 fgamm
(O) wrE™™  (3) fomr dmm
(P) fush

FHe

(4)  (M)-(1), (N)-G), (0)-2), (P)-(3)
®B) M-, N-1), 0)-6), ®-©2)
Q  MD-3), N)-Q), (0)-(), (P)-(1)

(D) (M)-(2), N)-(1), (O)-(2), (P)-(2)

SPACE FOR ROUGH WORK / T% w18 & o e
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44.

+'and separated by a Na™*

“The diagram depict rigid containers
“‘composed of two aqueous chambers, A
““and B, each contammg a Na' solution

permeable
membrane. The panel on the left
represents the distribution of Na* ions at
rest, in the absence of ariy electrical
potential. the
concentration of Na™ ions in chamber A

In this scenario,

equals the concentration of Na™ ions in
chamber B ([Na] , =[Na]g). The panel on
the right illustrates the effect of a+ 60
millivolt potential applied across the
membrane (chamber B relative to
chamber A). Assuming a temperature of
37°C, which of the following expressions
best describes the resulting distribution of
Nat ions between the two chambers ?

; ENa"‘J
’@C{ffoj IJ ‘ J

[Na] , =10[Na]g

Nat

(A)
(B) [Na],=2[Naly
(C) [Na],=60[Nal;

(D) [Nalz=10[Na],

44.

e Yt #, Q) g¢ Sei HsE A
=l S9N T €| YA ek H Nat
el e ® Na* Ridesa 94 9
fopan e ®1 9EA 3R % YA R TeRE
# foreft oft faege diefre &6t IR
Na*+ 31! o forawor =61 seiar 8139
H @ A § Nat 3R 1 |G,
Nat ®@ET & &&X 9™ ST
([Na] , = [Na] ;) Ser S 37 51 I
(F3 A & GUE, HS B W) +6(
e TR 1 g guIiar B
AUHA S TYH F g e F F e
afwlﬁaﬁméﬁﬁm\wr T
Wmﬁaﬁmm@aﬁ
'Y,

I N S
Na* - Na* Na* = N
: L
= J

w5 les

(A) [Na],=10[Na]g

(B) [Nal,=2[Naly

(C) [Na],=60[Na],

(D) [Na]z=10[Na],

SPACE FOR ROUGH WORK / 1% &rd & fo@ sv@
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45.

46.

In meiosis haploidy in terms of reduction
of chromosome and haploidy in terms of
reduction in DNA takes place respectively
in:

(A) Metaphase-I and Anaphase-I
(B) Anaphase-1, Anaphase-II
(C) Metaphase-I , Metaphase-II

(D) Anaphase-II, Anaphase-I

RNA interference is mediated by both
siRNA and miRNA. Which one of the
following statement about them is not
true ?

(A) Both siRNA and miRNA are
processed by DICER.

(B) Both siRNA and miRNA usually
guide silencing of the same genetic
loci from which they originate.

(C) miRNA is a natural molecule while
siRNA is either natural or a synthetic
one.

(D) miRNA, but not siRNA is processed
by Drosha.

45.

46.

fraifow & wriEm % og=m ¥ owe o
TRIES! a: DNA H 379 % 731 § ¥z
fr & & fopad S &2

(A) HIHSLL T SR

(B)  STThSI-I, STTRSI-11

(C) WS-, HeTthsi-II

(D) 3FTHS-II, SFTHS-I

RNA SR #1 siRNA T8 miRNA @i
% gl fafewe frn ST ) P A s @
HUF A% favg § g7 g ¥?

(A) siRNA 99 miRNA SN %I, DICER
SR 169 R i 1

(B) siRNA G miRNA S, W=,
Wﬁﬁﬁ?lca,ﬁl‘f@aw%%
1 T H FE HW B

(C) miRNA WIHfae 319 8, Safh siRNA

o1 < YT S1eran SRR B )

(D) ST ERI miRNA ! &9 fofan <iman &
T T siRNA #I |

SPACE FOR ROUGH WORK / T% &1 &% fordr sig
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47. Which of the following statement is/are ~ 47. 1= H o 1 HYF TE B/8?

correct ?

(M) T-helper lymphocytes secrete a M) T-&eR ferepraTge T et o w
factor, which stimulates formation ETGIRAS | @3{ YR & forrnemge
of other types of lymphocytes. Frrmtor Y S LT © 1

(N) T-supressor lymphocytes cause (N) T-T93R fermrange, s wiafshan
lowering of the intensity of the - fereRe # @@ R

immune response.

(O) T-cytotoxic lymphocytes recognize ©) T-mrereifrms farhiage a4
nonself antigens on cells and lyse e FideH ®T T F ©
them __: S!S € |

(P) B-lymphocytes develop into cells o ®) B-farrIdEey, -Gl § formfea
that secrete antibodies. T S0 i o EEw e S

Code : %<

(&) (M), (N), (O) and (P) (&) (M), (N), (O) T (P)

(B) M), (N), (P) (B) (M) (N), (P)

(€) (M), (O)and (P) € M), O (D)

(D) (M), (N) and (O) (D) (M), (N) @1 (O)

SPACE FOR ROUGH WORK / 1% &1 & ford s
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48,

M)
(N)
©)

)

Which of the following comparision of
primary and secondary antibody

response is correct ?

Primary Secondary

Response Response
Responding Naive Memory
B cell B-Cell B-Cell

Lag period Generally Generally 1-3
4-7 days days

Isotope IgM IgG
produced  predominates predominates
Antibody  Higher Lower
affinity

Code :

(4) (N) and (P)

(B) (M) and (P)

(© (M), (N) and (O)

(D) (M), (N) and (P)

48. UEHG aun Yw-ed TlEre) giafwar

HH | I W R ?
WL
gfafean

M) gfefsren wrE 39

B - I& B - d7
N) e aweEm:

4-7 feq

©)  seafe IgM

S e S P EUL S
P) e T

Bkt

G

(A)  (N) = (P)

(B) (M) T (P)

(©) (M), (N) 721 (O)

(D) (M), (N) 721 (P)

fadta
whdfsan
T

B- 3«

1-3 fgq
IgG

T

SPACE FOR ROUGH WORK / 1% &8 & o1 Wirg
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49.

In amphibians, when due to some injury,

the eye lens is damaged, the fully

differentiated iris cells can regenerate the

lens. It is achieved through the following

possible processor :

(M) Iris cells through some signaling

(N)

©)

(P)

undergo differentiation into lens
cells to regenerate the lens.

Stem cells present in iris tissue

differentiate into lens cells.

Iris cells transform into lens cells
spontaneously.

Iris cells induce in a stepwise
manner, specific genes responsible
for their differentiation and then

conversion to lens cells.

Which of the following is correct ?

(A)

(B)

©)

(D)

(M) and (N)

(M) and (O)

(M) and (P)

(N) and (O)

49.

IR B o Rt HROE TR &
B §, o qoiew | favfea sl wet
A 1 QAT H TR T THE AT
o NAER! & Hread | B T |

™M) omefE dou $® famel & e
e G 9 faafed St o=
H R

(N) TR s § Sufeed RH 9&
et # farafea & St

() °EiE deu wa: o Al |
AS@EI

(P) omEfE dow IER qlw 9 f
S+ Ifa T &, S S e
g dal # et & g
B

e & @ e wd 8?
(A) (M) T (N)
(B) (M) 7= (O)
©) ™)@ (P)

D) ) 7= (©O)

SPACE FOR ROUGH WORK / T® & & o srrg
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50.

During fertilization in amphibians, the

fusion of egg and sperm plasma is

preceded by the sequence :

(M) Release of enzymatic content from

(N)

©)

the acrosomal vesicle through
excytosis.

Binding and interaction of the
sperm to vitelline membrane.

Passage of sperm through

extracellular envelop.

Chemo attraction of the sperm to
the egg by soluble factors secreted

by egg.

Which of the following is the correct

sequence ?

(A)

(B)

©

(D)

(M), (P), (O) and (N)

(P), M), (N) and (O)

M), (0), (N) and (P)

©), (N), (M) and (P)

50.

I H e % SR w qun o i

1 R G e ¥ BT &7

M)

(N)

©)

TR TS & uregy § @'{ﬁﬂﬁ
et § TeHes Ie1e & T g
g |

wH 1 faeel BmE 9§y oA
W:ﬁﬁﬂ@@ﬂ%l

TR YRIER TeTT § T 1 919 2m
YR g

T R HEa Yersiiel e % gR
T o O %) HH SR @ B

ﬁmﬁﬁ?@u@aﬁw%?

(A)

(B)

©)

(D)

M), (P), (O) T=n (N)

(F), M), (N) @11 (O)

M), (O), (N) =11 (P)

©), (N), (M) Tem (P)

SPACE FOR ROUGH WORK / T% & & fos wg
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51.

52.

A person has been suffering from night  51.

blindness. On consultation, the doctor
advised the person to eat the carrots
and/or cod fish oil. After some time
having seen no improvement, the doctor
gave the person vitamin A injection. Still
no marked improvement was seen. The
doctor mooted several suggestions
indicating lack of the following enzymes
for the failure of treatment :

(a) Retinal reductase

(b) Retinal synthase

(c) Retinol dehydrogenase
(d) Retinal isomerase

Which one of the following is correct ?

(A)  (b) and ()

The order of evolutionary pattern of  52.

nitrogen excretion in animals is as

follows :

(A) Urea, Ammonia, Uric acid
(B) Urea, Uric acid, Ammonia
(C) Ammonia, Urea, Uric acid

(D) Ammonia, Uric acid, Urea

w13 oafea Ui fuan 9 fufea ¥1 el wle
% ITEN Sided 1 W SR/ g fhy e
W FE | FO GG F TG, BEE AL
TR A A E @, i s
fordry wrIeT A goT | e 3 3 e
foar foren qun feeti= 1 oawerar & o

e TesimEHl Bt R umE
(a) e Rews

(b) eTat fHes

() YeAta fegmgifsms

~

(d) YeTa STEUHE
e d sm o w82

(A) (b) T ()

(D) (b) T (d)

el B RIS S & fammes
T T TFR T -

(A) Ffen, s, AR s
(B) fe, Afe o, ST
(C)  erfEn, e, I s
(D) s, e o, ren

SPACE FOR ROUGH WORK / T& & & fo& S g
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53.

54.

Crossing over is the :

(A) Exchange of segment between sister
chromatids of homologous

chromosomes.

(B) Exchange of segment between

non-sister chromatids of

homologous chromosomes.

(C) Exchange of segment between

non-sister chromatids of

non-homologous chromosomes.

(D) Non-homologous chromosomes
undergoing division.

How many contrasting traits of pea pod
were chosen by Mendel ?

(A) Seven (07)

(B) Five (05)

(C) Three (03)

(D) Two (02)

53.

54.

TR T :

(A) BT Y ¥ e wafk
& e WE & ot

(B) ErHIANTE HiHrETy & AH-f
HUCEq & 7 We & fafrma

(C) TH-EHIANT™ MY F -y
HhIafeey & e ©S o faftma

(D) - BT SR T farsr |

Hed | UR uie % foad e e
T?

(A) ¥ (07)
(B) = (05)
(C) < (03)

(D) ¥ (02)

SPACE FOR ROUGH WORK / T® & & forer sre
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55. Which one of the following kind of 55. ﬁﬂﬁﬁaﬁqmmﬁmwm

animals is triploblastic ? §?

(A) Corals (A) Frew
(B) Flat worms (B) TRIE THY
(C) Sponges (C) wSH
(D) Ctenophores (D) feArRRy

56. In parental care of animals, the parental 56. Tg3l # Ag-fug <@we H§ W A Ha
investment of males is seen in which of =1 o forg g # <@t st 77
the following groups ?

(a) Sticklebacks and zebras (a) Teha-d% T Sa

(b) Sticklebacks and Hippocampus (b) fewa-S= am vy
(c) Sticklebacks and Alytes (c) Tewa-3= aw threg
(d) Elephants, lions and monkeys (d) e, fog o Hehl

Code : Fe

(A) Only () (A) HaE (c)

(B) Both (b) and (c) (B) (b) qe(c) A H

(C) Both (b) and (d) (C) (b) duT(d) A

(D) Only (d) (D) e (d)

SPACE FOR ROUGH WORK / % & & f&ad wg
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57.:°

(@)

(b)

(©)

(d)

Match the Column - I with Column - II
with the most appropriate one.

Column - I

Hardy
-Weinberg

Lamarck

Darwin
-Wallace

Hugo de
Vries

Code :

(4 @
(B)

D)

@

(i

(iv)

(b)

(1)

Column - 11

Natural variation that
gives it an adaptive
advantage in an
environment leading to
a new environmental
equilibrium in evolution
by natural selection.

Each mutation sharply
separates the new forms
and an independent
species from which it
arises.

Acquired characters are
inherited by its
offspring overa
period of time.

Relative gene frequencies
remain unaltered from
one generation to next.

(d)

(iv)
@ @)

57. @ - I % W - I ¥ gafea s

wWH -1

(a) wife-
EECui

(b) MR

C TR

()
(a) @
(iv)
©) (@)
(D) ()

(B)

(iv)

()

WY -1
grpfae afiEda st ©
FeTehTeT SRl § oY
T, T - IR Tge
o1 Tomtor shear B

YAF R W €Y 1
FoI-TIEY AU T
genferh fSead 3 3= B
€, 1 STeRT X B

TaIEty o S1fela
IENEGICICARSCAECE I
F g1 TR foRan S ®1

Heiferq s7 fpeaifaal
T WS | W a6
fiEd-Ta &+ &t 8

(d)

(iv)
O @

SPACE FOR ROUGH WORK / T% & & f&s g
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58. Find the sequence of binding of the
following amino acyl t-RNA complexes
during translation to m-RNA transcribed
by a DNA segment having the base
sequence 3' TACATGGGTCCG 5'.
Choose the answer showing the correct
order of alphabets.

.\ V GV A CC GG G G- Anticodon
)] v () @

4 @) 2, 069
B @, @O B) @
© @), @), 4,6

D) @, 1) @), )

58.

3' TACATGGGTCCG 5' 99 I %# TR
DNA GE % 5’ m-RNA ¥ 3R & IR
sreifEa e T Tfe -RNA S%al F
S 3T FTd RIS AAT ITHES & e
STIoRHA I T Y ST YT =hifeg |

LI

CC C GG G G— TAFE
®3) 4

4) 1), @2, 06) @

B) 2, D), 6) @

© @) 2 @ 06

D) @, 1) @), 6

SPACE FOR ROUGH WORK / T% &id & fad s g
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59.

60.

An E. Coli strains has met B 1 (90 min)
and leu A 5 (2 min) mutations.
has str A 7 (73 min) mutation and Tn 5
transposon which confers streptomycin

It also

and kanamycin resistance, respectively,
inserted in its chromosomes. The mutant
strain was crossed with an H fr strain that
is streptomycin sensitive and has his G2
mutations (44 min) that makes it require
histidine. After incubation for 100 the
cells were plated on minimal plate
supplemented with leucine, histidine and
streptomycin to select the meet B marker.
After purifying 100 of the Met™ trans
conjugants, one finds that 15 are Hist, 2
are Leu™ and 12 are Kanamycin sensitive.
The unselected markers are :

(@)
(b)

Which of the following statement is

met B 1 and leu A 5 mutations.

leu A 5 and Tn 5 insertion mutation.

correct and what is the position of
transposon insertion ?

(A) (a) and before 73 min
(B) (b) and before 44 min
(C) (b) and before 73 min

(D) (a) and before 44 min

Which one of the following techniques is
used for the subcellular localization of
proteins without lysing the cells ?

(A) Western blotting

(B) Immunofluorescence

(C) ELISA

(D) Differential centrifugation

59.

60.

TF E. Coli ¥4, § B1 (90 fae)
leu A5 (2 ¥ e) RIETA T SHF sir A
i off (73 fH2) =3 99 Tn 5 i
TN AN LEHEEH qen e
YSH ST § T shrEm o YA s
T TS WA hl H fr A, S LR
Gt B T A THH AT (44 )
=eyE § ee @ fewifer =t emew
Bt &, o W1 ShiG A1 411 100 iR
TREYHE & 9%, B AR 99 & 99
o e, feifer aon wemmem &
fafme e W Fe F @i fEa
Met * 219, Sepiieq % 100 Jeii 1 g
% UgER] 15 His t, 2 Leu™ ¢ 12 ST
HeGRITE IR AT ST ek §

(a) metB1 A leu A 5 REIAY

(b) leu A5 G Tn 5 TR BTH
= ¥ § 31 W % we ® aen o
el ot feafa s ©2

(A) (a) 9173 fore 4o

(B) (b) dum 44 foe 4d

(C) (b) den 73 fie g

(D) (a) dor1 44 foe 4

= o 9 form fafy =1, o9 oS &
Tl & STHRTHIT T & fog 3¢
TR ST €2

(A) &S st

(B) TG

(C) ELISA

(D) fauigs U=

SPACE FOR ROUGH WORK / T% &1 & & wg
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61.

62.

63.

Choose the correct sequence of the
following tools applied in proteomic :
(a)° MALDI - TOF

(b)  IEF

(c) SDS-PAGE

(d) Isolation of proteins

Code :

(A) (9 () @), (d)

(B) (d), ®) (9 @)

©) (b)) @) @

(D) (@), (0) (d), (b)

‘Which category of animals does not have

a true coelom ?

(A) Arthropoda
(B) Echinodermata
©)
(D)

Porifera
Annelida

What are the assumptions of Hardy -

Weinberg equilibrium ?.

(A) Small population size, random
matihg, no selection, no migration,
no mutation.

(B) Large population size, random

mating, no selection, migrants enter

from other populations, no
mutation.

Large population size, random

mating, heterozygotes survive the

best, no migration, no mutation.

(D) Large population size, random

mating, no selection, no migration,

no mutation.

61.

62.

63.

Mfeshfied & 797 Tefl & W& STHA ©
I HifST |

(@) MALDI - TOF
(b) IEF

(c) SDS - PAGE

(d) IR * fosE

%<

(A) () (b), (a), (d)

(B) (), () (@), (a)

©) (), (9, (d), (a)

(D) (@), (), (d), (b)

gl % forg ot areafess fadm =@ e
(A) smgiidreT

(B) UwEASH

(C) dURI%Y

(D) Hiferet

FIFE-ITor! THT S YRUTY 1 & 2

(A) &Y S 9, Agfws J4feT, v
Tl, T e, SEa el |

e SHEAT T1e, AGFege HieT, a1
&, 3 SMEE 9 ORI W Y9y
Ifadd el

(B)

98 STEET "R, Agfeed AT
BUSTETEH ot 3T=8 Siifar, Jord
SR e |

TEq S 9, AgFese i, 3T

©)

(D)

SPACE FOR ROUGH WORK / 7% & & fo&r wrg
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64.

65.

The most common vegetation in the 64.

Western Ghats of India is tropical moist
deciduous forest but that in Deccan
plateau is depleted thorn forest. The
possible reason is :

(A) Higher rainfall in Western Ghats
compared to Deccan plateau

(B) Extensive deforestation in Deccan
plateau compared to Western
Ghats

(C) Richer soil of Western Ghats
compared to Deccan plateau

(D) Higher temperature in Deccan
plateau compared to Western
Ghats

Two statements about breeding and 65.

nesting behaviour of animals especially
fishes are cited below. Which of the
following is correct ?

(@) Cichlids are mouth breeders.

(b)y Sticklebacks develop proper nests.
Code :

(A) (a) is correct and (b) is wrong.

(B) Both (a) and (b) are correct.

(C) Both (a) and (b) are wrong.

(D) (a) is wrong and (b) is correct.

A & Y=l o H, Ty 1H g e
Tifteret o1, Tofurlt 59 YR e Bl §
TFFT TSR H IR el o T Sk
Wﬂl‘ﬁﬂm%:

(A) SFHA YR & THES UFH T
sifyeh gt

(B) Uil HRE ¥ e SHHT U8
YF €Y G FAIRE

(C) SHFHT Y8R &% HwEe ufygdt m
e a1 wfs

(D) df¥=Hl S % HHEW, SFRT TS
S AHAE

IO & T qUT AR SeRR % fay
faset mafedl & o | e wem §
T T AR WA E?

@) fafeerey Aoy siew 89 €
(b) frwas® gd =i & ful ww

(A) (a) W& T (b) TTord
(B) (a) eM (b) il WY
(C) (a) 7 (b) S TToTd

(D) (a) T AT (b) T

SPACE FOR ROUGH WORK / & && & fad -8
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66.

67.

68.

Oxidative phosphorylation occurs 66.

during :

(A) Seed germination
(B) Protein synthesis
(C) Lipid metabolism

(D) Respiration

What is cDNA ? 67.

(A) Circular DNA
(B) Cloned DNA

(C©) DNA produced from reverse
transcription

(D) Cytoplasmic DNA

Phosphatidal serine, an important 68.

component of bidlogical membrane, is

located in :

(A) The outer leaflet but flip-flops to
leaflet

conditions

inner under specific

(B) Both the leaflets
(C) The middle of the bilayer

(D) The inner leaflet but flip-flops to

outer leaflet under specific

conditions

srfIefea BEPReE =1 3afd wa et
®7

(A) I sigTor H
(B) WA Heawor H
(€) fafrs temifass |

(D) va&A g

cDNA FI§?

(A) 9 DNA

(B) S DNA

(C) 3 wfaferem @ sanfed DNA

(D) wESrEnfE® DNA

Hiohfese i Seehe Wi % Teegol
ek | ST M ¢

(A) 9@ fawie § g fodiy sremensti o
JigEt fadre & wefto-waty d

(B) B ferwidi #

(C) Temdi Faemd

(D) oigEh fawer & v fos srercenadt
T g foaweie % witg-werg §

SPACE FOR ROUGH WORK / % &td & ferd shig

0128/ TFU-LS/ELG-II 37



69.

70.

71.

Given below are the events in the cell
cycle :
(a) Phosphorylation of Lamin A, B, C

(by Phosphorylation of Rb
(Retinoblastoma protein)

(c) Polyubiquitination of securin
(d) Association of inner nuclear

membrane proteins and nuclear

pore complex protein with

chromosomes.

Which one of the following reflects the
correct sequences of events in the
mammalian cell cycles ?

(A) @ =0 = ()=
B) (b) = ()= (d)—> (@)
© ©@=>@-=>0)—=>(1
(D) (b) = (@)= ()= (d

The formation of polyribosomes or dimers
of ribosomes is done in the presence of :

(A) Calcium ions
(B) Sodium ions
(C) Magnesium ions

(D) Potassium ions

Apoptosis is due to
(A) PCR
(B) PCD
(C) PGR
(D) PGD

69.

70.

71.

IR e H T e S W ¥

(a) <fE A, B, C &l RIERRIGITH
(b)  Rb (AL G ) 31 RIEhRIeT

(c) HRGA o iferagferRrter

(d) oieEdt A U qUr wHEEE
Y R IR HEEE QR
LCHEENE]

= ¥ @ 1 W, TfeEE 9 s § 9o
% W& TTRA ) Wi &2

(A4) @—=(®)= 0=

B {®)->0©—>d)—>0@

©) (©— (@)~ {b)—(d)
(D) (b) = (@) = (¢) = (d)

TEAETY o Qe aHE A2eT SEH ©
o ferdent Sufterfa o 2t 872

(A) HfcTam o7
(B) wifeaw ema
©) TfEm srm
(D) TrfEm ST

TRy fohdes RO | Far g ?
(A) PCR
(B) PCD
(C) PGR
(D) PGD

SPACE FOR ROUGH WORK / T% &1d & fod g
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72.

73.

74.

Part of antigen recognized by immune 72.

system is

(A) Paratope
(B) Epitopes
(C) Antibody
(D) Apoptosis

Gymﬁosperm seed typically contains 73.

tissues of :

(a) Previous sporophyte
(b) Gametophyte

(¢) New sporophyte
Code :

(A) (b) and (0

(B) (@) and (b)

(©) (2)and (©

(D) (), () and ()

In an angiosperm, the events : 74.

(a) pollen tube formation

(b) meiosis

(c) fertilization

(d) embryo formation

(e) pollination,

take place as per the order :

(A) @ —=@—>0® -0
B G-=E@->@=>00—>d
© @-0-==00-d
D) @—=©—=>0)->(@E—>0d

7 foen & g we=rl T UESH Al
q R

(A) e

(B) R
©) T
(D) wreite™

oo siie § fafirea: foras Sas B € 2

(e) I

%t wed fe o forg o F BT €72
(A) () > (@) — (b) = () = (d)
(B) ®)—=(e) =@ —=(9)—(d)
© (-~ (@)@
(D) (a) = () = (b) = (e) = (d)

SPACE FOR ROUGH WORK / T% &T& & fed g
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75.

Match Table - I and Table - II.

Table - 1

()

Stomatal Transpiration

(b)

Lenticular Transpiration

(©)

Cuticular Transpiration

Table - II

(¥)

80-90% of total transpiration

(i)

10-20% of total transpiration

(i)

~ 0.1% of total transpiration

Code :

(A)

(B)

©)

O @) (i)
@ i) (@)

(@ @ (i)

(D) None of above

75.

Tferent-1 ae Aferent-11 1 fram #ifs

Afeteht-1

(@)

T aedcEsi

(b)

dfeper arsadsi

(c)

‘ ‘

arferaRT-11

(i)

el TS w1 80-90%

(i)

e STSaIeEsi 1 10-20%

()

A TSI T~ 0.1%

@@ () (©

(4 @ @

(B)

© @@ @

(i)

O () (@

(i)

(D) ST | g T
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76.

The amount of each enzyme present in
the chloroplast stomata is regulated by
mechanisms that control the correct
expression of nuclear and chloroplast
genomes.  Following are certain
statements regarding the regulation of
chloroplast enzymes :

(@) The eight small subunits of rubisco
~encoded in plastid.

(b) Light modulates the expressions of
storomal enzymes encoded by the
nuclear genome via specific

_ photoreceptors.

(c). . Plastid encoded enzymes are
translocated in the stroma on
prokaryote - like 70s ribosome.

(d) Nucleus-encoded enzymes are
translated on 70s ribosomes in the
cytosol and  subsequently

transported into the plastid.

Which of the following combinations of
above statements is correct ?

(A) (a) and (b)
(B) (a) and (c)
(©) (a) and (d)

(D) (b) and (c)

76. WHE H UMY YIF TSEH hi HE
fafy & St ¥ S IR a9 SR
forrg & gt stfyraafa = Feifa s
fr=fafaa Feere & =30 9 gaf
fafyaa wem fed ™ £

(a) FfIER & S Y HHYfH wIfE
BRI

(b) THRI, LA TEay i Afyerf
i farfres srerrenE 3 e © =g
5 g ThIRE B € w gk
FA R

(o)  IfEE TS TNIEAY 70s TESIE
Y MR R S H Ziaaihee
T

(d) —IfREE-THEE TSMREAY |
# 70s TEEEHY W ZIGeheS B
A € H IT WEES § o I o
gl

Frraferfaa g o STaa A wUF €
¥?

(A)  (2) T (b)
(B) (a) WM ()
(©) (a) T (d)

(D) (b) T ()
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77.

78.

79.

The most common method of developing  77.

mapping population in plant is :
(A) Mass selection method
(B) Pure line selection method

(C) Single seed decent method for
developing recombinant Inbred line

(D) Recurrent selection for population

improvement

A  merozygote in E.coli
I+ Pt Ot z= /1Pt Ot Z* will
preduce B - galactosidase ina

manner.
(A) Inducible

(B) Constitutive

(C) No synthesis at all

(D) Both (A) and (B)

The strong tendency of the water to  79.

exclude is frequently referred

to as hydrophobic bond.
(A) Non-polar groups
(B) Polar groups

(C) Hydroxyl group

(D) Both (B) and (C)

with 78.

qIedl § 9rgere Tesrr faerg o fae vaifus
g fafa ®

(A) =9 = fafy
(B) Us W =3 fafy

(C) T gite ame & foera % ferg,
A s fegwe fafy

(D) iR Hefs % faq Rete ==

I*PtO+Z-/I"P*tOtZ*- EFiar &
eere, . e 9 g eefads
I HUT |

(A) TE

(B) €eew

(C) vy faeper el

(D) (A) Tl (B) Tl

I Sfgha H Hi S B Y&A
yafa Sl TH: FESIRieE sy ¥ Tehifa feman
Sk

(A) A-yura Tl

(B) g wRt

©) RS 9y
(D) (B) a1 (C) BN
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80.

81.

A cyclobutane ring is generated between
two nucleotide residues after
the exposure of DNA with radiation of
260 nm.

(A) AT
(B) TA
(C) GC

(D) TT

Which of the following are regarded as
phylogenetic classification of higher
plants ?

(a) Thorne’s system

(b) Bentham and Hooker’s system
(c) Takhtajan’s system

(d) Dahlgren’s system

Code :

(A) (a) and (b)

(B) (b) and (c)

- (©) (@) (c)and (d)

(D) (b), (c) and (d)

80.

81.

260 nm fafer<or & Tsr DNA & sifyeafa
FUEEI . FesleRS e
% Heg gEEege {1 #t safa i w71
(A) AT
(B) TA
(C) GC

(D) TIT

e @ fhd SRR AUl & wESHieS
FifeRtor % ¥ § Halifya feran smar €2
(a) o faeH

(b) o T Foen

(c) A fawH

(d) <& fawn

(A)  (a) T (b)
(B) (b) TN (c)
©) (@) () 7 (d)

(D) (b), (c) T (d)
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82. Match Table - I with Table - II : 82. AIfeTaRT - I ! ATfeAsRT - 11 | gAR

HIF :
Table - I wferant - 1
(a) |Circinotropous ovule (a) |fafdgioe stga
(b) |Ochreate stipule (b) |sTfwae Eiga
(©) |Pollinium (©) |diefom
(d) |Hypanthodium inflorescence (D |[zEddfeay TRiE
Table - II ATfereRT - 11
|r (i) |Asclepiadaceae () |Taeifrr
(ii) |Moraceae (i) |HRe
(iii) |Cactaceae (iii) [Faeh
(iv) |Polygonaceae [ (iv) [aferTre
Code : & :

@ () (© (d @ ) (© (@
(A) @) @v) @ () (A) @) @) () (i)
B O Gv) G () B) @) () (i) (i)
© v @ @ © @) (@) @) (i)
(D) None of above (D) SR H HIE T

83. (a) Pollen grains of angiospermous taxa 83. (a) USHITREHY o1 1 TR WI: 0

often cause rhinitis of human Y ey Y s T
beings.

(b) Proteins of the pollen exine trigger (b) T THET HT WA IgA o <
the synthesis of immunoglobulins TR A % G i IfE T
belonging to the class IgA which is T S TEleRg ¥ fou Saterh 9t
responsible for rhinitis.

Code : e

(A) Both (a) and (b) are correct (A) (a) T (b) I T ¥

(B) () is correct, but (b) is incorrect (B) (a) W&, Tg (b) o 1

(©) (a) is incorrect, but (b) is correct o (C) () T, W (b) T T

(D) Both (a) and (b) are incorrect ' (D) (a) T (b) S Tt §1
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84.

85.

The most common chlorofluorocarbons
(CFCl,) which is used primarily as a
propellent in aerosal spray cans and
CF,Cl, which is used as a refrigerant
(commonly known as Freon) is now
banned because chlorofluorocarbons in
the atmosphere destroy large quantities
of Ozone (Og) by photolytic process.
Ozone is necessary as :

(A) Ozone screens out most of the O,
necessary for plants and animals

(B) Ozone screens out most of the
damaging portion of the ultraviolet
radiation

(C) Ozone damages the ultraviolet light
necessary for plants and animals

(D) Ozone damages the cellular level

The order of publications of the concepts
of :

‘Survival of the fittest’

‘Natural selection’
‘Hardy-Weinberg equilibrium’
‘Inheritance of aquired character’
is :

Code :

(B) ©) - @) - @) - @)

B ©- @ - (@ - @)

© (@ - @b

D) (-0 - @->©

84.

85.

aifes W FARFSHE T (CFCL,)
TSt ST, gera: T ) 6 H g
% w9 H foF S § 99 CF,Cl, 1 394
TR (HHE: ST %8l ST §) & &
H fepan St & 7 o190 wfifer o fazm e €
Hiifeh FANTISARFET AHSA & A=
(O,) T Tl HIereTsiesh Wikl | <<t =7 B
B T W | SN (O,) il STewae

STIST, Wt et Ffor < fere srervars
O, ! BT FER FHeHTel Al & |
SIS, ST fafEn & wifeRE
ST 1 BT e Fehred <l &

(A)

(B)

3N et ae Wi o o st
AT FeRTST hT B TEEa ¥ |
A eger W I B TEem ¢

©

(D)

frefafen sifuaronsti % YRE #1 98
FHE:

(a) ‘Tafzaw E fg e’

(b) ‘T HerRA’

() ‘-t whfafsaam’

d) ‘TR it e HE
e

(A) ()= (@) = (d) - (9

(B) (© =@ —(d)—(b)

© @ — (- (b)—(d)

(D) (d) = (b) = (a) = (0)
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0128/ TFU-LS/ELG-II

45



86.

(d)

Through the course of geologic time the
order of appearance of taxa,

(a) Williamsonia

(b) Lyginopteris

(c) Magnolia and

(d) Rhynia

on the earth is :

(A) () =@ —= ()~
(B) ()= () =@~
€ ®)—>@)—> (-
D) @ - ®) = (d)-(©

Match the following :

Ananda (i) Discovered

Chakrabarty chromosome

Barbara () Genetic

McClintock transposition

Walther (iii) Oil eating bacteria

Flemming

Rosalind (iv) X-ray

Franklin crystallo-graphy
of DNA

Code :

@ ® (© (@
(A @ @) @) @)
® @ @) Gv) ()
© @) @ 6 @)
D) @) @) @) @

86. SIS WHA & ToRd Fag § geafl W, 2

(a) fafcramgifrar

(b) cfEedT

(c) Frforar aen

(d) wEfr

® Yohed HI HA T

(A) @ -@ b0
B) (@~ b @
© ®)>@ -
(D) (@) = (b) - (d) = (©)

87. =1 = gafem wifa
(@) S =Rl (i)  SRIENSIE @ @S

(b) SR (i) <Hfew
Trrfort=rn [ERIEINE]

(€) TR RAHT (i) aﬁaa:i%rréaaﬂf

(d) dufave FalT  (iv) DNA &1 XX
[ETICIpiNg]

@ () (© (@
(4) @ @ @) @)
(B) @) (@) (@) @)
© @ @ @O @)
(D) G @@ @) @)
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88. Match the following Agrobacterium genes

with their functions :

(@) vir A (i) T-DNA processing
and protection

(b) virD (i) Site specific
endonuclease
(c) virE (i) Chemoreceptor,

activator of vir G

(d) virG (iv) Positive regulator
of virB,C,D,E, F

Code :

@ @® (( (@
(A) @) @ @ @)
(B) (i) (@) (@) @
© O @ @ @)
D) Gv) @) @ @

89. (a) In Southern blotting restriction
endonuclease digested RNA
fragments are blotted.

(b) Blotting of RNA from the agarose
gel is called Western blotting.

Code :

(A) Both (a) and (b) are correct
(B) (a) correct, but (b) incorrect
(C) (b) correct, but (a) incorrect

(D) Both (a) and (b) are incorrect

88. = widleRiRgT = =i Sk Wil o @12
gHfaa ST :

(a) vir A (i) T-DNA Ufshan a1 Hiem

(b) vir D (i) T foR TS

(c) virE (iii) vir G I FHRH
TREX

(d) virG (@iv) virB,C, D, E Fl

gifsifes TeteX

@ () () (
(A) @) @ @ @)
(B) @) @ @) @
© @ @ @) (@v)
D) Gv) @) @@ @

89. (a) W& wiifen Hitael H T oAt difere
RNA =] =l safe foan Siran €1

(b) T S & RNA i e
SATTSTT el ST 8 |

(a) T (b) I W €
(a) W&, T (b) T ©
(C) (b) T, W (a) T &
(D) (a) T (b) S TeTd €
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(a) The X-ray pattern of DNA enable
Watson and Crick to build a model
that explained the specific structure
and properties of DNA.

(b) X-ray diffraction is primarily used

DNA XX ¥+ =} geran ¥ <
TAT ik 5 Ueh UH HiSH Hl |
foran S99 DNA & Toremt qen
FTEE i SARAT i ST G |

XX faseq =1 gem:, et

for phase identification of a & grae sifufryior aor gfte €
crystaline material and can provide el wi wifa & fog v
information on unit cell dimensions. SR

Code : %< :

(A) Both (a) and (b) are correct (A) (a) 71 (b) THI & T

(B) (a) correct, but (b) incorrect (B) (a) W&, Y (b) T

(C)  (b) correct, but () incorrect (C) (b) ¥, T (a) T T |

(D) Both (a) and (b) are incorrect (D) (a) T (b) S TTeTd |

Match the followings : 91. =1 =1 gafea wifw

Bar gene (i) Insect resistance (a) R <H () e iRy

Barnase and (ii) - Viral resistance (b) SRAS G 9NERR (i) 9ERE Wiy

Barstar

Coat protein (iiiy Herbicide () FR WA (i) TERS IR

gene resistance

Cpti gene (iv) Induction of male (d) Cpti SH (iv) o wffeet <

sterility and wiEferdt w1 I
fertility

Code : %< :
@ (® (9 (@ @ () () (d

(A4) (v) G @ @ (A) (v) (@) @@ @

(B) @) @(v) @@ @ (B) () @v) (@@ @

© @ @) @ @ © (@ @) & @

Oy @ @ @) @) . D) © @ (@) (v)
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92.

93.

Engler and Prantl’s system of
classification suffers from a serious
demerit.

They considered dicots to have

(b)

derived from Magnoliales.
Code :

(A)

Both (a) and (b) are correct

(a) is correct, but (b) is incorrect

(B)
(a) is incorrect, but (b) is correct

Both (a) and (b) are incorrect

All enzymes are not necessarily
proteins.

(b) A class of DNA can perform

catalytic activity.
Code :
(A) Both (a) and (b) are correct
(B) (a) is correct, but (b) is‘ incorrect
(a) is incorrect, but (b) is correct

©)

(D) Both (a) and (b) are incorrect

92.

©)

(D)

93.

RIS TR a1 Joee fawm,
TR ST o R ¥

3= 9 fF SHIe S Feafa
e | goT 1

(a) T (b) T W §
(a) TE, TG (b) e ®
(a) T, R (b) T T

(a) T (b) S TE §

gt T STEYEE AR W W 6
Kl

DNA 1 T 91 eregfes nfafafy
Y FehaT T

(a) TAT (b) T TR T |
(2) W, 7T (b) T T
(a) 7T, T (b) T ¥

(a) T (b) S TeTE © |
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(i) mRNA editing
(insertion and/or
deletion of
Uridylates in
mitochondrial
mRNA)

(i) Block translation

(i) Removal of
Introns

(iv) Precursor of
mRNA

() (d

(i) (iv)

@ 0

M) ()

) 6

94. Match the followings :
(a) gRNA
(b) snRNA
(c) micro RNA
(d) hnRNA
Code :
(a) ()
(4) O @)
(B) (iv) (i)
© @O ()
(D) (@) (i)
95.

@)
(b)

©
(d

Match the following phenotypic ratio

obtained with specific crossing pattern/

gene interaction :

15:1 (@)
9:7 (ii)
1:1:1:1 (ii)
13:3 (iv)
Code :

(@ (b)
(4 @ @)
B @O @)
©) () @
(D) @) ()

Duplicate gene
interaction
Inhibitory gene
interaction

Two point test cross
Complimentary gene

interaction

© @
(@) (i)
@ ()
@ )
@) ()

94, =1 =1 grfera wifaw |
(a) gRNA (i) mRNA Tfefen
(ArErRifEaa
mRNA #
Rieeed il ¥
e/ e faen
(b) snRNA (i) AlF TR
(c) micro RNA (iti) F=I I Tt
(d) hnRNA (iv) mRNA s U=
e
(@ () (0 (d
(A) @ @ @) (@)
(B) (v) @) @) @
© @ (@) @@ @)
(D) @@ @) @v) (@

95. fafdre wifan Yo/ ofa: v @ ure f
frrrersfuer s =1 gafea wifse
@ 15:1 () fifers S sfa:fEn
(b) 9:7 (i) TEARE S ofafEe
© 1:1:1:1 (i) Tg-fog = wE™
(d) 13:3 (iv) HY A ofa:foean

E TR

(@ () (o) (d)
(A) @ (v) @) (i)
B @O Gv) @ ()
© @ @ @ @)
(D) @) @ Gv) @)
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96.

97.

Consider the following with regard to
protein synthesis :

(@)
(b)
(©
(d)
(@)

Which one of the following is the correct

Structural gene
messenger RNA
ribosome
transcription

translation

sequence for protein synthesis ?

A) @=(d=>(© =0~
B @ =@ -0
© ®-=>@=>(0©—>(C ()
D) © b)) = ()~ ()~ ()

Chromosome Insitu Hybridisation (ISH)
technique have following steps. Arrange
the correct sequence of steps for ISH :-

(a) Insitu DNA & DNA hybridisation -

(b) Probe preparation with Nick
Translation

(c) Chromosome pretreatment and
slide preparation

(d) Detection of hybridized probe with
chromosome on Fluorescent
microscope

() Washing with stringency of excess
probes

Code:

B) @ ©-0b) -6~ e

(B) @ —>{®) = ()~ ()

© )= ©=@)->E—0)

D) (© = b)—>(@) = () —>(d)

96.

97.

AT Fyeruor § Heifya faer W fomm &8

(a) AT S

(b) FESR RNA

(c) TREEH

(d)  fdferem

() IR

e o @ o o1 WIS WY S W ST
72

(A) (@ —>(d)-> (> b))

(B) (@ —>(d)—>® ()=

©Q ®->@>0@ >~
D) (@ —=(b)—>(e) > (d)—= @
HIEEN 372 gesterseH (ISH) fafy |
1 =o 29 €1 3= ISH ¥ W@ ST |
et ST :

(a) §7-f9Z DNA & DNA TESSESRH
(b) - zieRA % W T e

() wmEm fafzzie qo wgs A

TSR HISHRET T FHIAEH &
Y BT ISRSS W 1 Feeam

faftaa Wisa = Tt & WY A
HT

(A)
(B)

©
(D)

@=>©@-=>0F->@->0
@ - ®) ===
(b) = (©) = (d) = () = ()
© = (b) = (@) = () = (d)
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98.

(d)

In Column - I, the names of the scientists
are enlisted whereas in Column - II, the
contribution of scientists are reflected.
Match Column - I with Column - II.

Column -1 Column - 11

Karl von Frisch (i) Conditioned
reflex

Pavlov (i) Theory of
imprinting

Niko Tinbergen (iii) Social life of
honeybees

Konrad Lorenz (iv) Stimuli to elicit
instinctive
behaviour

Code :

@ () (© (9

(A) @) @ (@Gv) (i

(B) () @ @ @)

© O @ @ (@)

(D) () @@ @ (i)

98. SHIAAN - 1 § S(eh] o1 19 G e -
ITeh ANTEE ) ST T | I -
whieW - 11 & gafed HifS |

>

&HicH - 1 e - 11

@) wam R () g s
(b) T @) s = fag

() Fmmfomaitn () wyARREEl @
gHifSieh SieA

(d) FE A (iv) TEIE A@fis
SRR T T

@ () (© (@
(A) (i) @) (iV)‘ (i)
(B) @) @ @O @)
© @& @ @) @)

(D) () @ @ (i
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99. Indicate names of the following

molecules :
™) (N)
(llOO - C|OO -
?Hz CHy

HO-C-COO CH-COO™
Csz HO - ClH
COO™ COO™
©) (P)
C",OO - CIZOO -
G o
o .
CI =0 COO™
COO™

(A) (M) - Citrate
(N) - Oxaloacetate
(O) - Isocitrate
(P) - a-ketogluterate
(B) (M) - Oxaloacetate
(N) - Isocitrate
(O) - a-ketogluterate
(P) - Citrate
(C) (M) - Isocitrate
(N) - Citrate

(O) - Oxaloacetate
(P) - a-ketogluterate
(M) - Isocitrate

(N) - a-ketogluterate
(O) - Oxaloacetate
(P) - Citrate

99. =1 S7upsii 1 W FGBEY :

o

?OO_

CH,
N

HO-C—COO

!
CH,

|
COO™

©)
c00-

(N)
?OO“
CH,
éH—COO'

HO-&H
o0~

(P)
(l'ZOO_
C=0
Cl31‘12
(EOO_

SPACE FOR ROUGH WORK / % & & fo& sg

0128/ TFU-LS/ELG-II

53



100. Which of the following is a second  100. =1 & # &1 fgdta T~ &2
messanger ?

(A) Nat (A) Nat
(B) cAMP (B) cAMP
(C) siRNA (C) siRNA
(D) mRNA (D) mRNA
-00o0- -00o0-
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=g

FOR 3ATehd TS T AT : 26 } j Iferaman e :

Time for marking answers : 2 Hours L Maximum Marks :

e
1. 39 99-JRae H 100 799 ¥ - T U9 2 37k 1 €1 9l we vt e afrerd ¥

2. U ¥ W, & T OMR IH-Yie (AE-3) W ifrd )

3. SRUIHE Hedishd gl foha Sa |

4. Todt ft T % FHorpeiet A1 @0 oS T Hiege B H §A0 ahed T

5. OMR SW-¥iie (FH-3Me) 1 TAM A THT T I AHEEET 7 /570 99 78 e S0
3T Wi A1 fere ot vg o e werasT 98 9 8 9 |

Note :

1.  This Question Booklet contains 100 questions. Each question carries 2 marks. Answer

questions.

2:  Indicate your answers on the OMR Answer-Sheet provided.
3. No negative marking will be done.

4.  Use of any type of calculator or log table and mobile phone is prohibited.

5. While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not
torn or spoiled due to folds and wrinkles.
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